
  

 

 

B.Com. DEGREE EXAMINATION – 
DECEMBER 2018.     

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Why is maximizing wealth a better goal than 
maximizing profits? 

 ö\ÀÁzøu AvP©v©õÚ C»UPõPU öPõshx Hß? 

C»õ£® AvP›US®? 

2. Write short notes on Cost of capital. 
 ]Ö SÔ¨¦ ÁøμP : ‰»uÚ AhUP®. 

3. Explain the significance of financial leverage. 
 {v©¯©õUP¼ß •UQ¯zxÁzøu ÂÍUS[PÒ. 

 UG–332 BAF-31/BCS-31 
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4. Briefly discuss the kinds of working capital. 

 |øh•øÓ ‰»uÚzvß £À÷ÁÖ ÁøPPøÍ 

_¸UP©õP ÂÁ›. 

5. Discuss about dividend policy. 

 £[Põuõ¯ öPõÒøP°øÚ¨ £ØÔ _¸UP©õP ÂÁõv. 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What do you mean by business finance? Discuss 
various approaches to finance function. 

 ÁoP{v Gß£øÁ ¯õøÁ? {v ö\¯À£õmiØS® 

£À÷ÁÖ AqS•øÓPÒ £ØÔ ÂÁõvUPÄ®. 

7. State and explain the different sources of long 
term funds. 

 }shPõ»{v°ß £À÷ÁÖ Buõμ[PøÍ SÔ¨¤mk 

ÂÍUSP. 

8. Briefly explain the concept of capital structure. 
 ‰»uÚ Aø©¨¦ P¸zvøÚ _¸UP©õP ÂÁ›. 

9. What are accounts receivables? Explain the 
factors which affect the size of accounts 
receivables. 

 ö£ÖuÀPÒ PnUS Gß£øÁ ¯õøÁ?  ö£ÖuÀPÒ 

PnUQøÚ¨ £õvUS® PõμoPøÍ ÂÍUSP. 
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10. Analyse the determinates of the dividend policy of 
corporate enterprises. 

 {Ö© Aø©¨¦PÎß £[S Buõ¯U öPõÒøPø¯ 

{ºn°US® PõμoPøÍ¨ £S¨£õ´P. 

11. Explain the factors determining capital structure. 

 ‰»uÚ Aø©¨¤øÚ £õvUPUTi¯ PõμoPøÍ 

ÂÁ›. 

12. Explain the sources of working capital and the 
factors determining working capital needs. 

 |øh•øÓ ‰»uÚzvß ÁÍ[PÒ ©ØÖ® |øh•øÓ 

‰»uÚ ÷uøÁPøÍ¨ £õvUPUTi¯ PõμoPøÍ 

ÂÁõv. 

 

————————— 



  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2018. 

Third Year 

Accounting and Finance 

AUDITING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

 Answer any THREE questions. 

1. What is meant by internal check? State the 
important points to be borne in mind in deciding 
good internal check system. 

 APa^μõ´Ä  GßÓõÀ GßÚ? J¸ |À» APa 

^μõ´ÂøÚ ÷©ØöPõÒÐ® ÷£õx ©ÚvÀ öPõÒÍ 

÷Ási¯ P¸zxUPøÍ TÖP. 

2. Explain the salient features in the vouching of 
wages in an industrial concern. 

 J¸ öuõÈØ\õø»°À T¼ \õßÓõ´Ä ö\´u¼À EÒÍ 

]Ó¨¤¯À¦PøÍ ÂÍUSP. 

 UG-343 BAF–32 
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3. Explain auditing in an EDP environment. 

 EDP `Ç¼À uoUøP ÂÍUPÄ®. 

4. Discuss in detail the liabilities of company auditor. 

 {ÖÁÚzvß uoUøP¯õÍ›ß ö£õÖ¨¦PÒ £ØÔ 

Â›ÁõP ÂÁõvUPÄ®. 

5. Explain the classes of investigation. 

 ¦»Úõ´Ä ÁS¨¦PÐUS ÂÍUPÄ®. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the Internal Check with regard to Wage 
Payment. 

 APa^μõ´Ä \®©¢u©õÚ Fv¯ ÁÇ[Suø» ÂÁ›. 

7. What is meant by the term verification of assets? 
How does it differ from the term valuation of 
assets? 

 ö\õzxUPøÍ \›£õºzuÀ Gß£uß ö£õ¸Ò ¯õx? Cx 

ö\õzxUPøÍ ©v¨¥k ö\´uÀ Gß£v¼¸¢x 

GÆÁõÖ ÷ÁÖ£kQÓx? 

8. What are the various internal control techniques 
that are applicable in an EDP audit? 

 EDP uoUøPUS ö£õ¸¢uUTi¯ £À÷ÁÖ EÒÍ 

Pmk¨£õk ~m£[PÒ ¯õøÁ? 
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9. Explain the duties of auditor in respect of the 
following: 

 (a) shares issued at premium 

 (b) shares issued at discount. 

 RÌPõs£øÁPÎÀ uoUøP¯õÍ›ß Phø©PøÍ 

ÂÍUSP. 

 (A) •øÚ©zvÀ £[SPøÍ öÁÎ°k® ÷£õx 

 (B) ÁmhzvÀ £[SPøÍ öÁÎ°k® ÷£õx. 

10. The term ‘Investigation’ implies an examination of 
accounts and records for some special purpose. 
State as the how would you conduct an 
investigation fraud is suspected. 

 ¦»Úõ´Ä Gß£x ]» •UQ¯©õÚ u¸n[PÎÀ 

÷\õuøÚ ö\´ÁuõS® Aa`Ç¼À ÷©õ\i |øhö£ØÓ 

ChzvÀ GÆÁõÖ ¦»Úõ´ÂøÚ ÷©ØöPõÒÁõ´ 

Gß£øuU TÖP. 

11. Explain the need for providing depreciation. 

 ÷u´©õÚzøu ÁÇ[SÁuØPõÚ AÁ]¯zøu 

ÂÍUS[PÒ. 

12. State the various methods of valuation. 

 ©v¨¥miß £À÷ÁÖ •øÓPøÍ TÖP. 

–––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2018. 

Third Year 

INCOME TAX  

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Who is an Assessee? What are the classifications 
of Assessee? 

 Á› ÂvUP¨£mhÁº Gß£Áº ¯õº? Á› 

ÂvUP¨£mhÁ›ß ÁøP¨£õkPÒ ¯õøÁ? 

2. Mr. Babu owns a house property which is let out 
for residence. He submits the following details to 
compute gross annual value of the property. 

                                                             Rs. 
 Municipal Value    1,40,000 
 Fair Rent     1,45,000 
 Standard Rent under rent control act 1,42,000 
 Annual rent    1,68,000 
 Unrealized rent     14,000 
 Loss due to vacancy     7,000 

 UG–344 BAF–33
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 v¸. £õ¦ uÚUS E›ø©¯õÚ Ãmk ö\õzøu 

Si°¸UP ÁõhøPUS ÂmkÒÍõº. ö©õzu Bsk 

©v¨ø£ PnUQh AÁº RÌPõq® ÂÁμ[PøÍ 

\©º¤zxÒÍõº.  

                                                             ¹. 

 |Pμõm] ©v¨¦    1,40,000 

 {¯õ¯©õÚ ÁõhøP   1,45,000 

 uμ ÁõhøP      1,42,000 

 Bsk ÁõhøP    1,68,000 

 £n©õUP¨£hõ ÁõhøP    14,000 

 Põ¼¯õP C¸¢uuõÀ EshõÚ |mh® 7,000 

3. Give the format for computation of Professional 
Income of a Lawyer. 

 ÁÇUPÔbº öuõÈ¼¸¢x Á¸® Buõ¯zøu 

Põs£uØPõÚ ÁiÁzøu u¸P.  

4. What is a Security? What are the kinds of 
Securities? 

 ¤øn¯® GßÓõÀ GßÚ? ¤øn¯[PÎß 

ÁøPPøÍ¨ £ØÔ GÊxP.  

5. Write the provisions for deductions from Gross 
Total Income u/s 80 G. 

 ¤›Ä 80 G°ß RÌ ö©õzu Á¸©õÚzvÀ C¸¢x 

AÝ©vUP¨£k® PÈÄ £ØÔ¯ \mh ÂvPøÍ GÊxP.  
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is Salary? Elaborate the features of Salary. 

 \®£Í® GßÓõÀ GßÚ? \®£Ízvß ]Ó¨¤¯À¦PøÍ 

ÂÁ›. 

7. Write any fifteen Income from other sources that 
are chargeable under section 56. 

 ¤›Ä 56ß RÌ EÒÍ H÷uÝ® £vøÚ¢x ¤ÓÁÈ 

Á¸©õÚ[PøÍ GÊxP.  

8. Which of the following incomes are taxable when 
the residential status of Mr. Kesavan is : 

 (a) Ordinarily Resident  

 (b) Not Ordinarily Resident  

 (c)  Non-Resident 

  (i) Income accrued in Canada but received 
in India Rs. 2,000. 

  (ii) Rs. 5,000 earned in Africa and received 
there but brought to India. 

  (iii) Rs. 5,000 earned in India but received 
in Canada. 

  (iv) Rs. 10,000 earned and received in 
Srilanka from business controlled from 
India. 
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  (v) House property income (computed) 
from Bangladesh Rs. 2,000. 

  (vi) Rs. 4,000 was past untaxed foreign 
income which was brought to India 
during the previous year. 

  (vii) Profits earned from a business in 
Kanpur Rs. 10,000. 

 v¸. ÷P\ÁÛß Si²›ø© {ø». 

 (A) \õuõμn Si°¸¨¦øh¯Áº 

 (B) \õuõμn Si°¸¨¦ AÀ»õuÁº  

 (C)  Si°¸¨¦ AØÓÁº  

   BP C¸¢uõÀ, ¤ßÁ¸® Á¸©õÚ[PøÍ 

GÆÁõÖ Á› Âv¨¦US Em£kzu¨£k®.  

  (i) PÚhõøÁ ÷\º¢u Á¸Áõ´, BÚõÀ 

C¢v¯õÂÀ ö£Ó¨£mhx ¹. 2,000 

  (ii) ¹. 5,000 B¨¤›UPõÂÀ \®£õvzx 

ö£Ó¨£mhx BÚõÀ C¢v¯õÄUS 

öPõsk Áμ¨£mhx.  

  (iii) ¹. 5,000 C¢v¯õÂÀ \®£õvzux BÚõÀ 

PÚhõÂÀ ö£Ó¨£mhx.  

  (iv) ¹. 10,000 ÿ»[PõÂÀ \®£õvzx 

ö£Ó¨£mh Â¯õ£õμzvß Pmk¨£õk 

C¢v¯õÂÀ EÒÍx.  
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  (v) Á[PõÍ ÷u\zv¼¸¢x ö£Ó¨£mh Ãmk 

ö\õzx Á¸©õÚ® ¹. 2,000 

(PnUQh¨£mhx) 

  (vi) ¹. 4,000 £øÇ¯ Á›°h¨£hõ öÁÎ|õmk 

Á¸©õÚ® ö\ßÓ |h¨£õsiÀ 

C¢v¯õÂØS öPõsk Áμ¨£mhx.  

  (vii) Põß§›¼¸¢x Dmi¯ Â¯õ£õμ C»õ£® 

¹. 10,000. 

9. Mr. Ravi has occupied 2 houses for his residential 
purposes, particulars of which are as follows : 

Particulars House A House B 

Municipal Valuation 60,000 20,000 

Fair Rent 85,000 22,000 

Standard Rent under Rent  
control Act 

 
65,000 

 
NA 

Municipal Taxes paid 10 % 10 % 

Date of commencement of 
construction 

 
12-4-1988

 
10-4-1990

Date of completion 10-4-1991 14-4-1991

Fire Insurance 600 300 

Interest on capital borrowed for 
construction of house 

 
56,000 

 
Nil 

 Determine the House property income for the 
Assessment year 2017-18. 
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 v¸. μÂ AÁºPÒ Si°¸UP BUQμªzxÒÍ Cμsk 

ÃkPÎß ÂÁμ® ¤ßÁ¸©õÖ. 

ÂÁμ® Ãk ‘A’ Ãk ‘B’ 

|Pμõm] ©v¨¦ 60,000 20,000 

{¯õ¯©õÚ ÁõhøP  85,000 22,000 

uμ ÁõhøP  65,000 NA 

|Pμõm] Á› ö\¾zv¯x 10 % 10 % 

Pmk©õÚ® öuõh[Q¯ ÷u] 12-4-1988 10-4-1990

Pmk©õÚ® •iUP¨£mh ÷uv 10-4-1991 14-4-1991

w Põ¨¥k 600 300 

Ãk Pmh Áõ[Q¯ Phß «uõÚ Ámi 56,000 - 

 Á› Âv¨¦ Bsk 2017&18ß £i Ãmk ö\õzx 

Á¸©õÚzøu wº©õÛUPÄ®.  

10. Following is the P& L A/c of Mr. Mukesh for the 
year ended 31.3.17. 
Particulars Rs. Particulars Rs. 

To Salaries to staff 10,000 By Gross Profit 80,000

To Salary to owner 5,000 By Bad debts recovered 

To Bonus (due) 5,000 disallowed earlier 5,000

To Interest on capital 3,000 By Rent from property 20,000

To Bad debts 5,000 By Interest on securities 3,000

To Reserve for Bad debts 2,000 By Miscellaneous  
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Particulars Rs. Particulars Rs. 

To Donation 4,000       receipts 2,000

To Gift & Presents 1,000 By Winnings from  

To Advertisement 5,000        lotteries 3,000

To Sales tax paid 2,000   

To Insurance premium     

    (50% to HP) 5,000   

To Local taxes paid 1,000   

To Depreciation 7,000   

To General expenses 2,000   

To Purchase of scooter 16,000   

To Net Profit 40,000   

 1,13,000  1,13,000

 Depreciation as per IT rules allowed Rs. 5,000 and 
general expenses include Rs. 1,000 as help to poor 
student. Compute Income from business for the 
previous year 2016-17. 

 v¸. •÷Pè AÁºPÎß C»õ£&|mh PnUS 31.3.17 

CÖv°À. 

ÂÁμ® ¹. ÂÁμ® ¹. 

£o¯õÍ›ß \®£Í® 10,000 ö©õzu C»õ£® 80,000

E›ø©¯õÍº \®£Í® 5,000 ÁõμõUPhß Á`À 

ªøP Fv¯®  5,000 •ßÚº ©ÖUP¨£mhx 5,000
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ÂÁμ® ¹. ÂÁμ® ¹. 

  (öPõkUP ÷Ási¯x)  Ãmk ö\õzx Á¸©õÚ® 20,000

•uÀ «x Ámi 3,000 ¤øn¯[PÒ «uõÚ  

ÁõμõU Phß  5,000   Ámi 3,000

ÁõμõU PhÝUPõÚ JxURk 2,000 Cuμ ÁμÄPÒ 2,000

|ßöPõøh 4,000 £›_ ^mk ‰»©õP 

£›_ ©ØÖ® Aß£Î¨¦PÒ 1,000   öÁßÓx 3,000

ÂÍ®£μ® 5,000  

ÂØ£øÚ Á› ö\¾zv¯x 2,000   

Põ¨¥mk •øÚ©®    

 (50% Ãmk ö\õzx) 5,000   

EÒÑº Á›PÒ ö\¾zv¯x 1,000   

÷u´©õÚ® 7,000   

ö£õxa ö\»ÄPÒ 2,000   

öPõÒ•uÀ ö\´¯¨£mh     

  C¸ \UPμ ÁõPÚ® 16,000   

{Pμ C»õ£® 40,000   

 1,13,000  1,13,000

 Á¸©õÚÁ› ÂvPÎß £i AÝ©vUP¨£mh 

÷u´©õÚ® ¹. 5,000 ©ØÖ® ö£õxa ö\»ÂÀ ¹. 1,000 

HøÇ ©õnÁÝUS EuÂ¯x ÷\º¢xÒÍx. •¢øu¯ 

Bsk 2016&17ß £i EÒÍ ÁoP Á¸©õÚzøu 

PnUQkP.  
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11. Mr. X purchased a house in May 1984 at a cost of 
Rs. 40,000. In June 1988 he added two rooms at a 
cost of Rs. 30,000. In June 2016 he sold the house 
for Rs. 6,00,000 and paid Rs. 10,000 as brokerage. 
He purchased a new house at a cost of Rs. 2,00,000 
on 10th march 2017. Compute the capital gains for 
the Assessment Year 2017-18.  

 (CII: 1984-85—125; 1988-89—161 and 2016-17—
1125) 

 v¸. X Gß£Áº ÷© 1984À ¹. 40,000 öPõkzx Ãk 

JßÖ Áõ[QÚõº. áúß 1988À ¹. 30,000 ö\»ÂÀ 

Cμsk AøÓPøÍ PmiÚõº. áúß 2016À A¢u 

Ãmøh ¹. 6,00,000 US ÂØÓõº ©ØÖ® ÂØ£øÚ 

uμPõP ¹. 10,000 AÎzuõº. 10.03.2017 AßÖ  

¹. 2,00,000 öPõkzx ¦v¯ Ãk JßÖ Áõ[QÚõº. 

Á›Âv¨£õsk 2017&18ß £i ‰»uÚ Buõ¯zøuU 

PnUQkP.  

 (A.S.G. : 1984-85—125; 1988-89—161; and 2016-
17—1125) 

12. Mr. Malan who is handicapped provides the 
following information. Compute the taxable 
income of Malan for the Assessment Year 2017-18. 

                                 Rs. 

 Salary per annum   1,30,000 

 Interest on Savings Bank Account 15,000 

 Interest on Government Securities 4,000 
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                                 Rs. 

 LTCG     40,000 

 STCG     10,000 

 Winnings from lotteries   20,000 

 Deposit in PPF    40,000 

 NSC (VIII) purchased during the year  20,000 

 ¤ßÁ¸® uPÁÀPøÍ FÚ©õÚ v¸. ©õ»ß AÁºPÒ 

u¸QÓõº. 2017&18 Á›Âv¨¦ BskUPõÚ  

v¸. ©õ»ß AÁºPÎß Á› Âv¨¦USm£mh 

Á¸Áõø¯U PnUQkP.  

                                 ¹. 

 \®£Í® (Á¸h®)    1,30,000 

 Á[Q ÷\ª¨¦ PnUQß «uõÚ Ámi 15,000 

 Aμ_¨ ¤øn¯[PÎß «uõÚ Ámi 4,000 

 }shPõ» ‰»uÚ Buõ¯®  40,000 

 SÖQ¯Põ» ‰»uÚ Buõ¯®  10,000 

 £›_ ^mk ‰»©õP öÁßÓx  20,000 

 ö£õx ÷\©|» {v°À EÒÍ øÁ¨¦ 40,000 

 C¢u Bsk NSC (VIII) Áõ[Q¯x  20,000 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2018. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Discuss the advantages of Cost Accounting. 

 AhUPÂ¯À PnUQ¯¼ß |ßø©PÒ £ØÔ GÊxP. 

2. The profit as per financial accounts Rs. 1,64,190. 
Calculate the profit as per cost accounts from the 
following : 

 (a) The works overhead were under recovered in 
the financial a/c by Rs. 8,000. 

 (b) The office expenses were over recovered in 
the financial a/c by Rs. 3,000. 

 (c) Depreciation charges were over recovered in 
the cost a/c by Rs. 1,900. 

 (d) Dividend received amounted to Rs. 990. 

 UG–345 BAF–34
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 {v{ø» PnUQ¯¼ß£i C»õ£® ¹. 1,64,190 

¤ßÁ¸® Â£μ[PÎ¼¸¢x AhUPÂø» 

PnUQ¯À£i C»õ£zøu Psk¤iUPÄ®. 

 (A) {v {ø»PnUQÀ öuõÈØ ÷©Øö\»ÄPÒ 

SøÓÁõP GÊu¨£mhx ¹. 8,000. 

 (B) {v {ø»PnUQÀ A¾Á»P ö\»ÄPÒ 

SøÓÁõP GÊu¨£mhx ¹. 3,000. 

 (C) AhUPÂø» PnUQÀ ÷u´©õÚ® AvP©õP 

Põmh¨£mhx ¹. 1,900. 

 (D) C»õ£ DÄ ö£ØÓx ¹. 990. 

3. Arun & Co. gives the following information : 

 No. of employees on 1.1.2015 — 2010 

 No. of employees on 31.12.2015 — 1990 

 No. of employees recruited — 30 

 No. of employees discharged — 50 

 Calculate labour turnover rate. 

 A¸s Aß ÷Põ ¤ßÁ¸® ö\´vPøÍ u¸QÓx. 

 öuõÈ»õÍº GsoUøP 1.1.2015À – 2010 

 öuõÈ»õÍº GsoUøP 31.12.2015À – 1990 

 öuõÈ»õÍº GsoUøP A©ºzu¨£mhx – 30 

 öuõÈ»õÍº GsoUøP £o }UP® – 50 

 öuõÈ»õÍº ©õØÓ ÂQuzøu PõsP. 
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4. Give the list of main groups forming the functional 
classification overhead. 

 ÷©Øö\»ÄPøÍ C¯UPzvØ÷PØ£ Á›ø\£kzxP. 

5. Calculate break even point from the following : 

 (a) Sales 1000 units at Rs. 10 each Rs. 10,000; 
Fixed cost Rs. 8,000. 

 (b) Is the selling price is reduced to Rs. 9. Find 
out BEP. 

 RÌPõq® ÂÁμzv¼¸¢x \›\©¨¦ÒÎ ÂØ£øÚ 

Psk¤i. 

 (A) ÂØ£øÚ 1,000 A»SPÒ ¹. 10 – ¹. 10,000, 

{ø»a ö\»ÄPÒ ¹. 8,000. 

 (B) ÂØ£øÚ J¸ A»S ¹. 9  BP SøÓ¨¦    

\›\©¨¦ÒÎø¯ Psk¤i. 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the difference between Cost accounting 
and Financial accounting. 

 AhUPÂø» PnUQ¯¾US® {v{ø» 

PnUQ¯¾US® EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 
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7. Mr. Gopal furnishes the following data relating to 
the manufacture of a standard product during the 
month of April 2004. 

 Raw material consumed Rs. 15,000;  Direct labour 
charges Rs. 9,000;  Machine hours worked – 900; 
Machine hour rate Rs. 5;  Administrative overhead 
20% on work cost; Selling overhead Rs. 0.50 per 
unit; Unit produced 17,100; Units sold 16000 units; 
Unit selling price Rs. 4 per unit. 

 Prepare Cost unit with Cost per unit. 
 RÌPõq® £mi¯¼¸¢x Mr. Gopal Gß£Á›ß 

AhUPÂø» £mi¯ø» H¨μÀ ©õu® 2004US 

u¯õ›UP. 
 ‰»¨ö£õ¸mPÒ ¹. 15,000, ÷|μi T¼ ¹. 9,000 

C¯¢vμ ÷Áø» ÷|μ ÂQu® ¹. 5, C¯¢vμ £o ÷|μ® 

900, {ºÁõP ÷©Øö\»Ä 20% on work cost, ÂØ£øÚ 

ö\»ÄPÒ J¸ A»SUS ¹. 0.50, u¯õ›zu A»SPÒ 

17,100, ÂØ£øÚ A»SPÒ 16,000 J¸ A»S 

ÂØ£øÚ Âø» ¹. 4. 
8. From the following, prepare stored ledger under 

LIFO method : 
2015 

March 
 

1 Opening balance 100 units at Rs. 5 each 
6 Received 500 units @ Rs. 6 each 

20 Issued 300 units 
25 Issued 200 units 
26 Received 500 units @ 5 each 
28 Issued 300 units 
30 Issued 250 units 

 Shortage of material of 5 units found on 29th 
March. 
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R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x LIFO 
Âø»°À \μUS ÷£÷μmøh u¯õ›UPÄ®. 
2015 
©õºa 

 

1 Bμ®£ C¸¨¦ 100 A»SPÒ ¹. 5 Ãu® 

6 ö£Ó¨£mhøÁ 500 A»SPÒ ¹. 6 Ãu® 

20 ÁÇ[P£mhøÁ 300 A»SPÒ 

25 ÁÇ[P£mhøÁ 200 A»SPÒ 

26 ö£Ó¨£mhøÁ 500 A»SPÒ ¹. 5 Ãu® 

28 ÁÇ[P¨£mhøÁ 300 A»SPÒ 

30 ÁÇ[P¨£mhøÁ 250 A»SPÒ 

 29th, 5 A»SPÒ SøÓ¢xÒÍuõP 

Psk¤iUP¨£mhx.  

9. Calculate : 

 (a) Maximum stock level. 

 (b) Minimum stock level. 

 (c) Average stock level. 

 (d) Re-order level. 

  Re-order quantity 3000 units; Reorder period 
4 to 6 weeks. Normal consumption 3000 
units per week each. Minimum usage 1500 
units per week each. Maximum consumption 
4500 units per week each. 
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 RÌPõq® ÂÁμ[PÎ¼¸¢x  

 (A)  AvP£m\ AÍÄ,  

 (B)  SøÓ¢u£m\ AÍÄ  

 (C)  \μõ\› AÍÄ  

 (D)  ©Ö Bøn AÍÄ Psk¤iUPÄ® 

  ©Ö Bøn A»SPÒ 3,000, ©Ö Bøn Põ»®  

4 to 6 Áõμ[PÒ, \õuõμn ~PºÄ 3,000 A»SPÒ 

(J¸ ÁõμzvØS) SøÓ¢u£m\ J¸ ÁõμzvØS 

A»SPÒ 1,500, AvP£m\ J¸ ÁõμzvØS 

A»SPÒ 4,500. 

10. A company has 3 production department A, B and 
C and two service department X and Y. Show how 
the expenses of service departments would be 
apportioned to production departments. 

 Production Department : 

  A — Rs. 80,000 

  B — Rs. 70,000 

  C — Rs. 50,000. 

 Service Department : 

  X — Rs. 23,400 

  Y — Rs. 30,000 

 The expenses of service department are 
apportioned on following basis : 

 A B C X Y 
X 20% 40% 30% — 10% 
Y 40% 20% 20% 20% — 
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 A, B, C GßÓ ‰ßÖ EØ£zv xøÓPÐ®, X & Y GßÓ 

÷\øÁ xøÓPÐ® EÒÍ {ÖÁÚzvß ö\»Ä £[Rmk 

Â£μ[PÒ ¤ßÁ¸©õÖ öPõkUP¨£mkÒÍx. 

 J¸[Pø©a \©ß£õk •øÓ°À öuõsk xøÓ°ß 

ö\»ÄPÒ EØ£zv xøÓUS £QºuÎUS® £mi¯À 

u¯õ›UP. 

 EØ£zv xøÓPÒ A – ¹. 80,000, B – ¹. 70,000,  

C = ¹. 50,000 öuõsk xøÓPÒ  X – ¹. 23,400,  

Y = ¹. 30,000 öuõsk xøÓPÎß £[Rk ÂQu®. 

 A B C X Y 

X 20% 40% 30% — 10% 

Y 40% 20% 20% 20% — 

11. Product A is obtained after it passes through  
3 distinct processes. Prepare Process a/c. 

  Process 

 Total I II III 

 Rs. Rs. Rs. Rs. 

Material 15,084 5,200 3,960 5,924

Labour 18,000 4,000 6,000 8,000

Production O/H 18,000 — — — 
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 1000 units of material @ Rs. 6 per unit were 
introduced in Process I, Production O/H is to be 
distributed at 100% on labour. 

Process 
Total  

output  
units 

Normal  
units  
(Loss) 

Value of 
scrap per 
unit (Rs.) 

I 950 5%   4 

II 840 10%   8 

III 750 15% 10 

 ‰ßÖ Âu©õÚ ö\¯À •øÓ°À ‘A’ GßÓ ö£õ¸Ò 

E¸ÁõP¨£mhx. ö\´•øÓ PnUQ¯ø» 

u¯õ›UPÄ®. 
  ö\¯À•øÓPÒ 

 ö©õzu® I II III 
 ¹. ¹. ¹. ¹. 

‰»¨ö£õ¸Ò 15,084 5,200 3,960 5,924
ö\´T¼ 18,000 4,000 6,000 8,000
EØ£zv ÷©Øö\»Ä 18,000 — — — 

 ö\¯À•øÓ I – À 1,000 A»SPÒ ‰»¨ö£õ¸ÒPÒ  

¹. 6 JßÖUS GßÓ AÍÂÀ ÷\ºUP¨£mkÒÍx. 

EØ£zv ö\»Ä ö\´T¼°ß 100% 

Â{÷¯õP¨£mkÒÍx. 

ö\¯À•øÓ 

ö©õzu 

öÁÎ±k 

(A»SPÒ) 

C¯À£õÚ 

CÇ¨¦ 

éQμõ¨ J¸ 

A»SUS 

¹. 

I 950 5%   4 
II 840 10%   8 
III 750 15% 10 
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12. From the following information of X Ltd. prepare 
contract account for 2017. Also show the profit to 
be taken to the credit in 2017. The contract was 
for Rs. 8,00,000. 

 Rs. 

Material issued from stores 1,50,000

Wages paid 2,20,000

General charges 8,000

Plant installed at site on 1.7.2017 40,000

Material on hand at close 8,000

Wages accrued due 8,000

Wages certified 4,00,000

Work completed but not certified  12,000

Cash received 3,00,000

Material transferred to other contract 8,000

 Depreciation on plant is to be provided at 10% per 
annum. 

 ¤ßÁ¸® SÔ¨¦PÎ¼¸¢x X {ÖÁÚzvß 

2017UPõÚ J¨£¢u¦ÒÎ PnUQ¯ø»²®, Auß 

C»õ£zøu u¯õ›UPÄ®. J¨£¢u® ¹. 8,00,000. 

 ¹. 

‰»¨ö£õ¸ÒPÒ ö\¾zu¨£mhx 1,50,000

ö\´T¼ ÁÇ[P¨£mhx 2,20,000

ö£õx Pmhn® 8,000

Plant 1.7.2017 À ÷\ºUP¨£mhx 40,000
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 ¹. 

CÖv°À ‰»¨ö£õ¸Ò øP°¸¨¦ 8,000

ö\´T¼ ÷\º¢u öPk (due) 8,000

÷Áø» \õßÔuÌ 4,00,000

÷Áø» •i¢x® \õßÔuÌ ö£Óuõux 12,000

£n® Áõ[P¨£mhx 3,00,000

‰»¨ö£õ¸Ò ÷ÁÖ J¨£¢uvØS ©õØÓ¨£mhx 8,000

 Plant – ß ÷u´©õÚ® J¸ Á¸hzvØS 10%. 

——————— 



 

  

 

 

B.Com. DEGREE EXAMINATION — 
DECEMBER 2018. 

Third Year 

ACCOUNTING FOR MANAGERIAL DECISION 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions in 300 words each. 

All questions carry equal marks. 

1. What are the objectives of management 
accounting? 

 ÷©»õsø© PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. Explain the principal types of analysis of financial 
statements. 

 {v{ø» AÔUøPPÎß £S¨£õ´Âß •UQ¯ 

ÁøPPøÍ ÂÁ›. 

 UG-346 BAF–35
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3. From the following calculate 

 (a)  Debtors turnover 

 (b)  Average age of debtors 
 2011-12 (Rs.) 2012-13 (Rs.)

Net sales 1,80,000 15,00,000 

Debtors (beginning) 1,72,000 1,60,000 

Debtors (End) 2,34,000 1,72,000 

 RÌPõs£øÁPÎ¼¸¢x PnUQkP. 

(A)  PhÚõÎPÍx _ÇØ]. 

 (B)  \μõ\› PhÚõÎPÍx Põ»®. 

 2011-12 (¹.) 2012-13 (¹.)

{Pμ ÂØ£øÚ 1,80,000 15,00,000 

PhÚõÎPÒ (Bμ®£®) 1,72,000 1,60,000 

PhÚõÎPÒ (CÖv) 2,34,000 1,72,000 

4. From the following P & L a/c, calculate funds from 
operating  

 Rs.   

To Administrative 
Expenses 

25,000 By Gross Profit 2,15,000

To Selling Expenses 16,000 By interest on 
Investment 

5,000 

To Depreciation 26,000 By Profit on sale of 
Machinery 

4,000 
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To Loss on sale of 
Building 

6,000   

To Goodwill written off 5,000   

To Discount on issue of 
debenture 

2,000   

To Net profit 1,44,000   

 2,24,000  2,24,000

  ¤ßÁ¸® »õ£ |mh PnUS ö\¯À£õmi¼¸¢x ÁÈ 

{v°øÚ PnUQkP.  

 ¹.  ¹. 

{ºÁõPa ö\»ÄPÒ 25,000 ö©õzu »õ£zvß ‰»® 2,15,000

ö\»ÂÚ[PøÍ 

ÂØ£øÚ ö\´¯ 

16,000 •u½mk «uõÚ Ámi 5,000 

÷u´©õÚzvØS Ámi 26,000 C¯¢vμ[PÎß ÂØ£øÚ 

«uõÚ »õ£® 

4,000 

Pmih® ÂØ£øÚUS 

CÇ¨¦ 

6,000   

SmöÁ°À ÂØ£øÚUS 

Á¸©õÚ® 

5,000   

PhÜmk¨ £zvμzøu 

uÒÐ£i ö\´¯ 

2,000   

{Pμ »õ£® 1,44,000   

 2,24,000  2,24,000
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5. Following is the details, relating to a project, 
calculate the pay-back period ignoring interest 
factor. 

     Rs. 

 Cost of the project 50,000 

 Return 

 I Year    5,000 

 II Year   20,000 

 III Year   30,000 

 IV Year   30,000  

 V Year   10,000 

 J¸ vmhzxhß öuõhº¦øh¯ ÂÁμ[PÒ 

¤ßÁ¸©õÖ, Ámi ÂQuzøu ¦ÓUPozx £n® 

ö\¾zx® Põ»zøuU PnUQk[PÒ. 

     ¹. 

 vmhzvß ö\»Ä  50,000 

 v¸®£ 

 I Bsk    5,000 

 II Bsk   20,000 

 III Bsk   30,000 

 IV Bsk   30,000  

 V Bsk   10,000 
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SECTION B — (4  15 = 60 marks) 

 Answer any FOUR questions. 

6. Explain the functions of management accounting. 

 ÷©»õsø© PnUQ¯¼ß ö\¯À£õkPøÍ ÂÍUSP. 

7. The comparative balance sheet of Balaji Bros, for 
the two years were as follows. 

Liabilities 31.12.2004  31.12.2005  Assets 31.12.200431.12.2005

Share 
capital 

1,50,000 1,75,000 Land and 
building 

1,10,000 1,50,000

Loan from 
bank 

1,60,000 1,00,000 Machinery 2,00,000 1,40,000

Creditors 90,000 1,00,000 Stock 50,000 45,000

Bills 
payable 

50,000 40,000 Debtors 70,000 80,000

Loan from 
SBI 

– 25,000 Cash 20,000 25,000

 4,50,000 4,40,000  4,50,000 4,40,000

 Additional information’s: 

 (a) Net profit for the year 2005 amounted to Rs. 
60,000. 

 (b) During the year a machine costing Rs.25,000 
(accumulated depreciation Rs.10,000) was 
sold for Rs.13,000. 

  The provision for depreciation against 
machinery as on 31.12.2004 was Rs 50,000 
and on 31.12.2005 Rs.85,000. Prepare cash 
flow statement. 
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 £õ»õâ ¤μuºêß Cμsk BsiØPõÚ J¨¤k® 

C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦UPÒ 31.12.2004  31.12.2005  ö\õzxUPÒ 31.12.200431.12.2005

£[S •uÀ 1,50,000 1,75,000 {»® ©ØÖ® 

Pmih® 

1,10,000 1,50,000

Á[Q Phß 1,60,000 1,00,000 C¯¢vμ® 2,00,000 1,40,000

PhÜ¢÷uõº 90,000 1,00,000 \μUQ¸¨¦ 50,000 45,000

ö\¾zuØS›¯ 

©õØÖa^mk 

50,000 40,000 PhÚõÎPÒ 70,000 80,000

SBI Phß – 25,000 öμõUP® 20,000 25,000

 4,50,000 4,40,000  4,50,000 4,40,000

 ÷©¾z uPÁÀPÍõÁÚ : 

(A)  2005 B® BsiØPõÚ {Pμ »õ£® ¹. 60,000. 

 (B)  C¢u BsiÀ ¹. 25,000 AhUP Âø»¯õÚx 

C¯¢vμ® (Ti²ÒÍ ÷u´©õÚ® ¹ 10,000)  

¹ 13,000US ÂØ£øÚa ö\´¯¨£mi¸¢ux. 

C¯¢vμzvØöPvμõÚ ÷u´©õÚU Põ¨¦ 

31.12.2004 À ¹ 50,000 ® BPÄ® 31.12.2005 À 

¹ 85,000 BPÄª¸¢ux. öμõUP |h©õmh 

AÔUøP JßøÓz u¯õº ö\´P. 

8. With the following ratios and further information 
given below, prepare a trading, profit & Loss A/c 
Balance sheet. 

 Gross profit Ratio 25%  

 Net profit ratio 20% 
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 Stock turnover ratio 10 

 New profit / Capital 1/5 

 Capital/total liabilities 1/2 

 Fixed assets/ capital 5/4 

 Fixed assets / total current assets 5/7 

 Fixed assets Rs. 10,00,000 

 Closing stock Rs. 1,00,000 

 uμ¨£mkÒÍ ÂQu[PÒ ©ØÖ® TkuÀ 

ÂÁμ[PÎ¼¸¢x Â¯õ£õμ C»õ£ |mh P/S ©ØÖ® 

C¸¨¦{ø»U SÔ¨¦ u¯õº ö\´P. 

 ö©õzu C»õ£ ÂQu® 25% 

 {Pμ C»õ£ ÂQu® 20% 

 \μUQ¸¨¦ _ÇØ] ÂQu® 10 

 {Pμ C»õ£® •uÀ 1/5 

 •uÀ/ö©õzu ö£õÖ¨¦PÒ 1/2 

 {ø»a ö\õzxUPÒ / •uÀ 5/4 

 {ø»a ö\õzxUPÒ/ ö©õzu |h¨¦ ö\õzxUPÒ 5/7 

 {ø»a ö\õzxUPÎß ©v¨¦ 10,00,000 

 CÖva \μUQ¸¨¦ 1,00,000 
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9. From the following details prepare cash flow 
statement 
Liabilities 2011  2012  Assets 2011 2012 

 Rs. Rs.  Rs. Rs.

Capital 35,00037,000 Cash 4,500 3,900

Debentures 6,000 3,000 Debtors 7,450 8,850

Creditors 5,180 5,920 Stock 24,600 21,350

Provision for Doubtful 
Debts 

350 400 Land 10,000 15,000

P & L a/c 5,020 5,280 Goodwill 5,000 2,500

 51,55051,600  51,550 51,600

 Dividend paid Rs. 1,750. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £n¨¦ÇUP AÔUøP 

u¯õº 

ö£õÖ¨¦PÒ 2011  2012  ö\õzxUPÒ 2011 2012 

 Rs. Rs.  Rs. Rs.

‰»uÚ® 35,00037,000 öμõUP® 4,500 3,900

PhßPÒ 6,000 3,000 PhßPÒ 7,450 8,850

Phß 5,180 5,920 £[S 24,600 21,350

\¢÷uPzvØS›¯ 

PhßPÒ 

350 400 {»zvØPõP 

JxURk 

10,000 15,000

C»õ£ |mh P/S 5,020 5,280 |ß©v¨¦ 5,000 2,500

 51,55051,600  51,550 51,600

 iÂöhßm, 1,750 ¹£õ´ ö\¾zv¯x. 
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10. Draw up a flexible budget for over head expenses 
on the basis of the following data and determine 
the overhead rates at 70%, 80% and 90% plant 
capacity. 

      Capacity levels 

                          70%  80% 90% 

 Variable overheads: 

 Indirect labour    –  12,000 – 

 Indirect material   –    4,000 

 Semi variable overhead 

 Power (30% fixed)   –  20,000 

 Repairs and maintainers 

 (60% fixed)    –    2,000 – 

 Fixed overheads 

 Depreciation    –  11,000 – 

 Insurance     –    3,000 – 

 Salaries     –   10,000 – 

 Total overheads    –   62,000 – 

 Estimated direct labour hours –     1,24,000 – 
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 ¤ßÁ¸® ÂÁμ[PÎß Ai¨£øh°À Kº ö|QÊ® 

vmh¨£mi¯À u¯õ›zx ö£õÔ°ß 70%, 80% ©ØÖ® 

90%  ö\¯À{ø»PÎÀ ÷©Øö\¯»Ä «m¦ Ãu® 

PõsP. 

       70%  80% 90% 

 ©õÖ® ö\»ÄPÒ : 

 ©øÓ•P EøÇ¨¦   –  12,000 – 

 ©øÓ•P ‰»¨ö£õ¸Ò   –    4,000 – 

 Cøh{ø» ©õÖ® ÷©Øö\»ÄPÒ 

 G›ö£õ¸Ò \Uv 

 (30¹ {ø»¯õÚx)  –  20,000 – 

 £Êx£õºzu¾®, £μõ©›¨¦® 

 (60% {ø»¯õÚx)   –    2,000 – 

 {ø»¯õÚ ÷©Øö\»ÄPÒ 

 ÷u´©õÚ®     –  11,000 – 

 Põ¨¥k     –    3,000 – 

 \®£Í®     –   10,000 – 

 ö©õzu ÷©Øö\»ÄPÒ   –   62,000 – 

 ÷|º•P EøÇ¨¦ ©oPÒ   –     1,24,000 – 
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11. A company whose cost of capital is 12% is 
considering two projects ‘A’ and ‘B’ the following 
data are available  

    Project A Project B 

 Investment 1,40,000 1,40,000 

 Cash flows 

 Year 1  20,000  1,00,000 

 Year 2  40,000     80,000 

 Year 3  60,000  40,000 

 Year 4       1,00,000  20,000 

 Year 5       1,10,000  20,000 

         3,30,000       2,60,000 

 Select the most suitable project by using the 
following methods  

(a) Pay back period. 

 (b)  Net Present value 

(c)  Profitability Index. 

 The Present value of Rs. 1 at 12% are: 

  Year 1 0.9 

  Year 2 0.8 

  Year 3 0.7 

  Year 4 0.6 

  Year 5 0.55 
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 J¸ {ÖÁÚzvß •uÀ ö\»Ä 12 ¹ BP C¸US® 

÷£õx A¢{Ö©zvß vmh® A ©ØÖ® vmh® B°ß 

uPÁÀPÒ ¤ßÁ¸©õÖ. 
 öμõUPa ö\»Ä                  A                    B 
 •u½k         ¹. 1,40,000 ¹.1,40,000 
 1 Áx Á¸h®   20,000 1,00,000 
 2 Áx Á¸h®   40,000    80,000 
 3 Áx Á¸h®     60,000  40,000 
 4 Áx Á¸h®   1,00,000 20,000 
 5 Áx Á¸h®   1,10,000 20,000 
            3,30,000       2,60,000 
 Cv¼¸¢x RÌ öPõkUP¨£mhÁØøÓ Psk¤iUPÄ®.  

(A) v¸¨¤ ö\¾zx® Põ»®. 
 (B)  {Pμ ©v¨¦ •øÓ. 

(C)  C»õ£ DÄ Dmk® •øÓ BQ¯ÁØøÓ 

PnUQkP {Pμ ©v¨¦ ¹ 1 US 12 ¹. 

  •u»õ® Bsk    0.9 
  Cμshõ® Bsk 0.8 
  ‰ßÓõ® Bsk  0.7 
  |õßPõ® Bsk  0.6 
  I¢uõ® Bsk  0.55 

12. Explain the various methods of ranking 
investment proposals of capital budgeting. 

 ‰»uÚz vmh[PøÍ uμ Á›ø\¨£kzx® £À÷ÁÖ 

•øÓPøÍ ÂÍUSP. 

——————— 


